N IN=Y) AR

INECEERF

1210000

1210000 /MEOZEHF
No. |- FB2 HmRaW |EH " =
1 1210100 | EB3C 1 0. 7
2 11210200 | HF3E 1
=Amb
I:F”]EDH-EI:F¥ 1210600
( N
.‘
1210600 FREOERF
No. |7— F&S HmRam  |EN " =
1 1210700 | EB3C 1 ®0.9 (G1/4)
2 11210800 | HHF3L 1

082017



N IN=Y) AR

HBE5147IVRLE Fy75L

1104700

1104700 #EE>17IVRLE

No. |1—FE&S R o % R e s & No. |1—-FES I8 o % R e & &
1 (1104702 | EOBSEA7— K 1 1/4x1/8 34 |1104709 | FRGEY —X 1 ®14.2

2 (1104703 | TV ATV avINA 7| 1 800mm 4 (1104705 | RV v T =lEs 1 N1 719)
3 1104707 | FRET U v THEE 1 5 (1104706 | H > Fi&5Elms 1

082017



N /—yyzk

&7 AT 52— 1104704

No. |2—RES B & AR B " &
No. |1—K&S &AW 8% % % 5 (1104708 | OV VY 1 P-9 90°
12000501 | N K 1 6 |2000505| O >4 1 P-7 90°
2 [2000502 | RT7U Y 1 7 2000506 | F v TEUFER 1
3 [2000503 | R byiX—E> 1 8§ 2000507 | 7—F 1
4 |2000504 | =) 1 9 [2000508 | LE&HER 1

052017



N /s—=wyzp

ATy kv — 1106800

1106800 A7y by —

No. |1—K&ES & & A% % %

1 |1106801 | BK/ XV

1
2 7110103 | EX 1 M4x6 0—L
3 3101000 | OU % 1 P-14
3-4 [1106803 | BFES (5) 1 oOVYY. H¥H

042021



NAGATA PARTS LIST

07 Wo4F O BY-S7 -LER

i

1107000
®

1107000 N 7 94+ RO BY-S 7 -LER
No. |a—FR&HES R0 1Bk " = No. |2—F&HES B & & R 1Bk " =
1 1106202 | ¥vv 7 1 (& )(#ihg) 5 11106207 | /X\vF> 1 NBR 15.5x10x3

1107001 | BEOAY K 1 (&) 6 | 1107003 | ZE#HEEAE 1
3-4 11107002 | V71 R (5) 1 oOUVIft (&)

3100500 | OU>4 1 P-9

072017




N N=YY R

SG7HETH2—

1108400

1108400 SG747%—

No. |D—RES B & & B ® =

1 1108401 | 74 72—k 1 No. |D—RES 80 & & B B 5

2  |3100400 ou»y 1 P-8 6  |1108405| 7=PK 1

3 1108402 ¥—*+ 1 7 1108406 | 'EO (58) 1 0YVJ. #)74 2081
4 1108403 | +v k 1 8 |1108407 | *+vv 7 1 & (e

5 1108404 | BEFE 1 9  |1105603 | ¥—b/NvF> 1

00—-00 082107



N IN=Y1) A b

1109400

#FHV HW-70S

7

~

—1—

SN
%% RIS
/ /%oooococoi -

RN — o
VAN L
b OB LI,
£ S P %
RodetotoN! \\ 000000000%
B \\ o etaterex \\\ R
£ o3 A B RS
% R 2R RIS
\\ 05505008, PR
%5 RRILEY NN
WS Y o NN
RIS .//. RIS
5
&
\

SRR 5
SIS S8
TR
XY

1109400 =a1—3¥%HY HW-70S
0 & &

No.

< i3
Elo|in|n £
©
=] ~
-
|| = /\l
oja|a|m Z
R =] =] =]
&=l
& SIN| S
AYEVIERIENET
o DILINRITID
0§ DRSNS
0B NN H| D
N ENISEEINEES
NN D K[| > DB
DD D [ o Hn) > 8|
00| |R|IB|IY &
ool v o|ao|m
§01001011
MRKIoOINNRINMA |
REEHEEEEEE
LIS = F|=| = =2
Mo | === =] —|—
Slo|o|—|n|m|<s|n|o
= f ) (P[RR QLAY ) et
=
g N
N =
= Rl
hall e
%M ..Jw 7W_m_m
2 2| X N <
< | ™ s
€3 NG| [2=]o
ANMNERERENN
I LU
Ko ||~ |35 |a
e Iy Iy ey e

5

(]

HBAPF

- &S
1109401

3100300 OU>¥

1109402 | FEOAE (58)

1117303 | I\ F>

1117704

117707 | N\ 97y TIV G

1-2

2
34

4
5

6-16 1109405 | A&/ T (58)
7-11 1117709 | KE&EIES (55)

8

102022



N IN=Y1) Ak

1109500

#AHVHR-150SR

/

~,

~

—1—;

R
SR %ﬂ"o’%%u\
Satosess ll P

L,
855
G S

XX
5
QR
< ooo‘\
»

R

S

2%
L5 ﬂoonououoodi
Z IR
1% Y
X
BN 5RRes 5
BN SIS XS RessX
oo, Basstesatetes BN '
o IR IR
QELogssstets XXX
K7 K58
RRXL RRRXS]
Rogesrcasetoteseses \ K
RIS N
0
X/

A
J
RRERRIIRAEIEE

R RRILRIBIRIEELLK, IR
RIS
oo rsasusosoetetetototorete’
R RRRRRIES
/ SREKEKS

151714
3x16
P—15H
P—15
P—14
P—14m
50y 7
072015

M6x1 2

1
1
1
1
1

2

BB & % 75
(%)

1117309 | 7' v JEIEF v b

1117310 | PRSI U v 7 (58)
2

HASERNRIL b

LRIy T

YERAyIN—EY
Elik

1117708 | Ny 9Ty FI VY
3101010 | QU5
3101000 | O > ¥

B

B

B

J1-FES

1117706

1109513 | N\ o7y TV
1109514 | KAOEE

1109515
1109413

20-2211109516

No.
12
13
14
15
16
17
18
19
21
22

P—10AH
P—10A
P—15

0UVy. Ryy7y 7V V51
P-15H

0UY9, RyyT7y 70054

MCP111
21.5x16.3x1.5

1
1
1

5k

% 5

BB &

vFY

[m|
PEXRGT SR

THER

1117303 | /N

il

1117707 | N 97y TUV G

3100700 | O~ Y
1117708 | Ny o7y TV 5

1117704 | LR F

5:15~18/1109505 | A&/ N1 7 (58)
1117709 | KE&REIES (58)

3101010| OU VY

J1-F&S
1260200
1117302
1117710

1
2
3
4
6
7
8
9

10

11

No.




N IN=Y) AR

BE%x%/XIVSH-20

1109700

1109700 =ERFE/XIV SH-20

No. [1—FE&ES B8 & % #R 1Bk " & No. [1—-FE&= B o % R {[BES¢ & &
1-2 1109701 | B 1 RE- 2.5 O 9 1109713 | KUNwF> 2 12x9.2x1
2 |3100300 OU>¥ 1 P-—7 10 (3100500 | O >4 2 P—9
3:17 (1109702 | "&5E (52) 1 INIVTY— MM 11121109707 | Y5>~ F (58) 1 oyt
1109704 | LEFAHRF 1 12 3101000 | OV >4 1 P—14
5 (1109708 | #i& 1 13 |1109709 | SRR IV v 7 1
6-7 (1109705 | &&/IN1 7 (58) 1 FREEY. 0O VI 14 1109710 | M6RT v+ — 1
7 [3101300| O % 1 P—21 15 1109711 | M6 ST v v — 1
8 11109706 | OV I TEREES: 1 16 (1109712 | M6 F v b (SUS) 1
17 eewxxxx | NPT — b 1 P

KENE, BB CORRSEIFIToTHEYE A,

032024




N IN—YYRB

g/ XIVL T-1

1109800 %%/ XIVL T-1

1109800

No. |2—R&E B & & [k & No. |2—R&ES B & 4 R Gk " &
111109801 7—F 1 8 xxxxxxx | (REEINA T 1
2 |1102704| 7—KikdU 5 1 9 | xeweenx | N TEUGEIS VR 1
3| weexx | Fu JTEFEE 1] % 10 |2417905| N\v o7y T2 T 1 P14
4 | wxwwrrx | AL N T 1] % 11 13101000/ OU~ %5 2 P14
5 | xxxxxxx | Sy THEESE 1 ¥ 12 xxxxxxx | INA @B 1
6 [1109802 | "M TESHIR L 1 M4x5 13 1109803 | K AOA A 1
7| e | ARGy S 1] % 3~12/1109804| /X1 7—= 1

KENE BBR TDRFEIIITOTEVE A

082017




N s—yyzp

B/ AIVLL-2

1109900

1109900 %%/ XIVLL-2
No. |a2—Fr&EE B & & R 1B & No. |a—F&EE EECER Bk "

1 1109801 | 7—F 1 8 wxxxxxx | (RCEINA S 1

3 |exxxsx | Fo FEYTLE 1] % 10 2417905 | Ny 9Ty TV G 1 P14

4 |rxxxsxx | XA INA T 1 X 11 (3101000| OV % 2 P14

5 x| G0y TRABEESE 1] % 12 |pxxxxxx | NA T B 1

6 (1109802 | 7"AMFIEHAL 1 M4x5 131109902 | /K ACAE 1

7 x| ARSIy S 1 X 3~12|1109804 | /N1 T—= 1

KENE BRR T DRI TOTEVE A

082017




N /s—vyzk

INYTFHY GL-120

1113500
INYTHY GL-120

D

Qs

1113500

No. |1—FE&S 8 & & W B % = No. |o—FEE 8 & & W B4 =
1 1113505 | O 1 MCP68B 16 1117212 | RFY2Y 1
2-3 1117504 | EOERTE£E (58) 1 oyt 17 (1117312 | FRARAK (5E) 1 =020
3 [1117505 | OULY 1 S—125 18 |3100201 | OU>% 2 P—590°
4 1117501 | S LT7—F 1 19:20 [1117216 | ¥ 52K (58) 1 o I+
5 [1117502 | 92950 FNUR 1 226—7R 20  |3100800 | OUv% 1 P—11
6 [1117506 | ILEASF 1 21 [1117218 | =—KRILEREIF vk 1 M5
o n— vk, 28 22 [1117217 | L/3— 1
79 (117507 | AT () ! IS 23 [1117213 | LA—ERATRA LN 1
8 [1117508 | /\woTyTILY 1 P—16/ 24 1130321 | MBUFwhk 1
9 [3101100 | OULY 1 P—16 25 [1117221 | RYLEHEE 1
10~1232 1113503 | VIB#MAKEE (58) 1 oYy, v—k, Evit 26 1117219 | 7—LY2YT 1
11 |3101100 | OYVY 1 P—16 27 1117220 | =—KRLERGAET AR | 1
12 (3101200 | OY>% 1 P—18 28 (1117223 | A—tBEYHIM 1
13 1117509 | pREASUvT (5) 1 INAT 29 1117224 | FYUNFALHEY 1
14 1117210 | =—F)L&h 1 30 (1117225 |EUVY 1 $3.2
15 [1117211 | Rk 1 31 1117226 | FvU/8% 1
32 soorrk | /NILT—k 1 X

XENE, AR TORFEIZIT>TEYFEE A,

102023




N IN=Y) AR

A1 Mixi#/XIVP AR 1113600

o

1113600 ASAR#%E%E/XIVP AR

No. |1—}ES BB & % 7R k34 i =
1 (1104702 | 7—F
2-3 |1113604 | 251 F/\1 T5Ef@Edm

1113602 | OV > 5 P-1190°
4~ 7(1113608 | Z1&/\1 75l
3101000 | O > ¥ P-14

(18x18 &) JLdR. EXfF

1129205 | SE
1113610 | RS54 K5 U v T (58)
1113612 | AV &E (58)

PPN P

JEIRYY RS (NS PN Y N NP PGS (Y

3
5
6 |1113605 | HREHEY
7
8
9

042017



N IN=Y ) A B

Iy h—F

/’

I EER S
< @

1114000

//

/
1114000 JTvh—%
No. |[I—FES B8 & % #R {[EE3 " No. [1—Fr&2 B & 1B s &
1 1101001 | Fvv 7 1 8 1100907 | Y5> F 1
2 |1101002 | FE#R 1 NE 2.0 9 |1114910| M8+ v + 1
3 [1104003 | MEMRA/NY ¥~ 1 24x9x2 10 (1114004 | FTiEY 1 (M8 E)
4 11114002 | #i 1 oIt 11 1101301 | "&#R 1 TR @18
5 |3100400| OU>¥Y 2 P—8
6 (1114017 | &Kf&N1 T 1
7 |1114003 | &Y 1 (12 ) dLiR. EAf

082023




NAGATA PARTS LIST

[ 77/ XVA—1(7—LA)

]
| S—
]

; 1114700

1114700 77/ XIVA—-1(7—LA)

No. |J—F&S EEE2Eq 1% 5 No. |O—F&S EEE2Eq % s =
1 1114702 | F¥vv7 1 (#iAE ) (B) 4 1114704 | F&(5%) 1 (#4888 ) ¥, mEiRfY
2| 1114701 | M&#R 1 NE-9 2.0 5 11114705 | IN\vF> 1| PVC | 12.8x9x1.5
311114703 | INwF> 1| NBR | 13.5x7x1.5

042021




NAGATA PARTS LIST

= — x - ] =
[ 79/RAIVA—=2(7—LHAH) [] 1114800
— [ =
®
@
®
@
®
1114800 77/ RIVA-2(7—LAH)
No. |O—F&HS B a2 ¥R Bk " = No. |O—Fr&S B & & R 1%L 5 &
1 1114802 | Fvv 7 1 (#5488 ) (1) 4 1114803 | &k (58) 1 (#4488 ) (48 ) ¥, MEIRMT
2 1114801 | FEIR 1 NE 2.4 5 | 1114705 | /XvF¥ 1| PVC |12.8x9x1.5
3 | 1114703 | NvFY 1| NBR | 13.5x7x1.5

042021




AVZIERAZAR/ XV

1115500

1115500 22 ERRASAF/ XV

No. |J—-FES BB & % R 1Bk i & No. |O—-FES B % 1B i £

1108903| F¥+vv 7 6 [1115503| TINA T

1108901| &R 7 [1115504| RS54 FINA 7 (58)

1115501 BOR7 1 ILZ— 9 [1115506| AV I wAML—F—

1
1
1108902 MEiRIFZ 1115505| v I &FfE (58) 1
1
1

b wnN| =
RN PPN PR [N
(o]

1115502| SeiN1 7 10 |1115507| A bL—F—#LARL

201907




N i=vyzr

1117100 HE%#%E/XIVSH-10

No. |1—FES B & T 1Bk 5 & No. |1—FES ETEgD 1Bk fa &

1-2 1117301 | B 1 R 02.0 00UV 10 (1109713 | KU IXwF> 2 12x9.2x1

2 |3100300| OU>¥ 1 P—7 11 |3100500 | O >4 2 P—9

3-18 (1117102 | ®BOAAKE (58) 1 INIVT o — M 12-13 (1109707 | 75> F (58) 1 oY vt
1117104 | LB A F 1 13 (3101000 | O % 1 P—14

5 1117109 | gk 1 14 (1109709 | FRAGHAI Vv 7 1

6-7 1117105 | &F/IN1 T (58) 1 oYV 15 (1109710 | M6RT v v — 1

7 [3101200| OU>¥ 1 P—18 16 (1109711 | M6 ST v v— 1

8 (1117110 | RIEY 1 (16x16 B) JL#R, ERfH 17 1109712 | M6 Fv b (SUS) 1

9 [1109706 | OV >V FEREES 1 18 [rxxxxxx | \) TV — b 1] *

KENE, BB T DRRSEIFIToTHEYE A,

4—-14 072015



N IN=Y) Ak

INJ7H>G-80

1117200

_

NJ7H>G-80 1117200
No. |J1—FE&S EB & %4 R B & No. [1—F&E B dn % R B s &
1 1117202 | Frv 7 1 16-17\1117216 | 75> F (58) 1 oIt
2 1117201 | ®&O 1 E@1.5 17 (3100800 | O >4 1 P—11
3 [3101000| O % 1 P—14 18 1117218 | =— FILFREF v F 1 M5
4 1117203 | IEERF 1 19 1117217 | LIA— 1
5 1117204 | EOAE 1 20 (1117213 | LAA—BUSERIV b 1
6 |1117205| ER 1 M3x4 21 1130321 | M5UF v k 1
7-8 (1117206 | BTEéE (58) 1 oIt 22 1117221 | RY LHLE 1
8 13100800 | O % 1 P—11 23 1117219 | 7—LVU>VYT 1
9 1117207 | INvF> 1 16x12x2 24 1117220 | =— RIVERGRERERSF v b 1
9-10-29(1117208 | /NIVTRAZ=w 71V (%) 1 IAVESZ N2 25 1117223 | #—btBEY M 1
11 1117210 | =— FIL#h 1 26 (1117224 | Fv 7 N\ZRIESHEY 1
12 1117211 fEhiks 1 27 1117225 | EU>Y 1 ®3.2
13 1117212 ATV 1 28 (1117226 | Fv 7 % 1
14 1117215 | FAAE (58) 1 B 25~28(1117222 | A— Oy I M (5%) 1
15 [3100201| O % 2 P-590° pL It AV 1] %

KENE BBR T OIRFEIIIToTEYE A,

032023




N i=vyz b

O—2—/\)7/XJV RV-80 1117300

M

1117702
IS5y NTET2—

® Y
: Q@

A—%—/\J7/XIV RV-80 1117300 e B2

No. [1—FE&S Bk " & 18 (1117226 | Fv U I\% 1
1-2 1117301 | B&O 1 AR 2.0 0YVIfe 19 1117224 | v I N\RIESHEY 1
2 |3100300 OU>¥ 1 P—7 20 (1117223 | #—bkOvom 1
3-4 (1117302 | "&5E 1 IAVEZ b 21 (1117225 | EUY 5 1 ¢3.2
1117303 | /Ny F> 1 21.5x16.3x1.5 22 1117217 | LIN— 1
5 1117304 | LB F 1 23 1117213 | LA—BUSERIV b 1
6~ 8(1117305 | &f&/\1 7 (58) 1 oYVt 24 1130321 | M5UF v + 1
7 13100701 | OU ¥ 1 P-10A90° 25 1117221 | RV EHEE 1
3100900 | O % 1 P—12 26 (1117219 | 7—LU VY 1
9-35 1117311 | /NIVTR=Zv 71V (58) 1 o — M 27 1117220 | =— FIVERAERASRF v b 1
10 |1117210 | =— F)L#h 1 28-30 (1117307 | KB&tIEEH (52) 1 oY vIft
11 1117211 | RNk 1 29 |3100501| OU>¥ 1 P-990°
12 1117212 ATV 1 30 (3100901 | OU>% 1 P—1290°
13 1117312 | BA4fE (52) 1 B 31 1117306 | IER by IN—E> 1 M2.5x12
14 [3100201 | OV >4 2 P-590° 32 1117308 | IEAGFEI SV K 1
15:16 |1117216 | 5~ K (58) 1 oIt 33 1117309 | Vv 7EIEF v b 1
16 |3100800| O >4 1 P—11 34 1117310 | FREI Vv 7 (58) 1 INT T
17 1117218 | —Z— FIVEAEF v b 1 M5 35 [rrxsxxx | g\ LT — b 1] %

KENIE, BB C ORI ToTEYE A,

122023



N IN="Y1) Ak

FHEZA17IVKF-750

HEIA1TIVKFE-750

1117400

No. |1—FrE&ES B & % #R {53 &g &

No. |1—FrE= B8 & % ¥R {[EE3 m £ 17 (3100201 | OU % 2 P-590°
1 1117202 | Fvv 7 1 18-19 1117216 | Y5V F (58) 1 oYUVt
2 |1117403 | &0 1 19 (3100800 | O >4 1 P—11

3 1117401 | &R 1 TNE 1.5 20 1117218 | =— KIVEAEF v b+ 1 M5

4 13101000 | O >4 1 P—14 21 1117217 | LIN— 1

5 (1117203 | I AR F 1 22 1117213 | LIN—=BYFARIV b 1

6 (1117204 | IEAXKME 1 23 1130321 | M5UF v + 1

7 1117205 | ERX 1 M3x4 24 1117221 | RY EHEE 1

8 3100800 O ¥ 1 P—11 25 1117219 | 7—LU>Y 1

8-9 (1117206 | B1E&EH (58) 1 oyt 26 (1117220 | =— FIVEEAEIRSF v b 1

10 1117207 | INvF> 1 16x12x2 27 1117223 | #—tOvom 1
10-11-31|1117408 | &&/NA T (58) 1 INYFV —ME 28 (1117224 | Fv 7V N\RIESHEY 1

121102805 | HREY Vv 7—=R 1 RV, Fv M 29 |1117225| EU> Y 1 ®3.2

13 1117410 | =— F)L#h 1 30 1117226 | v 7 /1\% 1

14 1117211 | iRhiks 1 27~30 1117222 | #— bty oM (58) 1

15. 1117424 | ATV VY 1 31 [eeeeeex |\ T — b 1

16 1117215 | BA4AE (52) 1 BYR 1-9 (1117425 | %&—30 1

XENZ BRR COIRFEIIIToTHYER A,

012024




N IN=Y) Ak

INV7HVG-150

1117600

1117600 -
No. |O—FR&S B &% 1Bk 5 Z No. |2—FK&S BB & % flEE=Y 5 &
1 1117602 | Fvv 7 1 17 |3100800 | OU>¥ 1 P—11
2 |1117601 | O 1 TiE 1.8 18 1117218 | =— FILERERF v 1 M5
3 [3100900 | OUV¥Y 1 P—12 19 1117617 | LiA— 1
4 1117603 | BEFGEE 1 20 1117613 | LA—BUIARIL b 1
5 1117625 | M4ST vy v— 1 21 1127108 | M6 U+ b 1
6 [1117604 | EX 1 M4x6 22 1117221 | RYLESHEE 1
1~10930|1117606 | BTEERAF— 1 OUYF. Ko7y TV It 23 1117620 | 7—LYUVY 1
7-29-30(1117624 | BiE#hAE (58) 1 RFER-— M 24 1117220 | =— FIVBEEEAR S v b 1
8 3101200 | OUVY 1 P—18 25 |1117623 | #—rav oM 1
9 1117605 | Nwo7vT)Vy 1 P—-18/ 26 1117224 | Fv I NRRESHEY 1
10 [1117607 | OU>% 1 1516—12 27 1117225 | EUYY 1 ®3.2
11 1117610 | =— FIL#h 1 28 |1117226 | Fv I I1\% 1
12 1117611 | Rhiks 1 25~28(1117622 | #—tav oM (58) 1
13 1117612 | RTUVY 1 PLI R AV 1
14 |1117615 | BAAfE (58) 1 BY 30 e S — b RES 1
15 [3100201 | OUV% 2 P—5 ?0° 1~10 17620 | Fete—=t 1
16:17 (1117216 | Y5V F (%) 1 oUvIt 29, 30

MENZ BBR COIRFTEIIITOTHYER A,

042022




N IN="J1) Ak

O—42—/\J7/XILRV-100

@
s i

A—4—\1)7 /X)L RV-100

==

» 0

7S5y NTFRETR—

® @

—

0

1117700

- |2—FES

BaRH

w &

No. |I—R&EE EIELE R A% i = 20 (1127108 | M6UF vk 1
1 |1274900| EEO 1 MCP111 SUS 21 RYlLtnHeE 1
2-3 1117302 | "EEE 1 NyFAFE 22 1117620 7—LU2Y 1
3 (1117303 | /\wF> 1 21.5x16.3x1.5 23 1117220 | =—F)LEREAEI RS vk | 1
4 1117704 | YEER A F 1 24 1117623 | A—hrOv oM 1
5~ 71117705 | KK/ (T (58) 1 oy 5 1t 25 1117224 | F92IRRIEHEY 1
6 [3101000| O % 1 P—14 26 |1117225| EV>Y 1 $3.2
7 [3100900| O 2 pP—12 27 1117226 | Fv9/3% 1
8:9-371117713| /NLTA=YTIL (58) | 1 o=k OV 28-32 [1117709 | K& &8 (58 ) 1 oy, Ryh 7Tt
9 [1117607| QY% 1 1516—12 29 (1117707 | 1\ T7yvF)o s 1 P—10AH
10 [1117610| =—F /L&A 1 30 |3100700| O>% 1 P—10A
11 [1117611 | RN L&D 1 31 |3101010| O % 1 P—15
12 1117612 RTYS 1 32 1117708 | 1\ o7y T 1 P—15H
13 [1117615| FRAAK (58) 1 EBUHR 33 1117706 | GIERbw/S—E> 1 3x16
14 |3100201| O % 2 P—5 90° 34 1117710 | IBARAKGT SR 1
15-16 |1117216 | ¥ 5K (58) 1 oy 35 (1117309 | Uy TEAEF vk 1
16 |3100800| O % 1 P—11 36 (1117310 HRETUvT (58) 1 AC AT
17 1117218 | =—F)LEREREI b 1 M5 24~ 2711117622 | AA—tBYH M (58) 1
18 [1117617| L/3A— 1 37 frsksokokiok | 7N LT S—b 1] %
19 1117613 | L/A—E{AARILE 1

XENF, SR TOIRFEXIT>TEYFEE A,

062024




N /s—yyzpk

74 F1B0E (7—LA) ]

1121100 74 F1EOE (7—-LA)

; 1121100

No. |a—FK&S I & 4 1Bk m = No. |a—F&S R A Bk w5 &
1 1204107 | ¥+vv 7 1 3 1204106 | /Ny ¥ 1| NBR 18.3x14x2
2 1204105 | 74 RHEiR 1 3—-45 4 1121101 | &k 1

042021




N /s—yyzpk

74 F 1880 90°

(7—LH)

]
| S—

,_; 1121200

1121200 74 K18090° (7—LA)
No. |O—F&S B & & EE 5 & No. |O—F&S| B & AR hlEESY 5 &
1 1204107 | ¥vv 7 2 3 1204106 | /\vF> 2 | NBR 18.3x14x2
2 1204105 | 74 FHEiR 2 3-45 4 1121201 | &k 1

042021




N IN=Y) Xk

ATVVABFE/AIVSY-15

1121600 R7VLAHFE/XIVSY-15

1121600

No. |1—FES B8 a4 FR {[EE3 s & No. [1—-F&= R o % FR Jl5E3 & &

1 1111702 | Fvv 7 1 16 |1128003 | ¥+ v 7/ 4 Ef (=, M A AB)
2-3 1115101 | B8O 1 AE01.30UVFf|| 17 1105703 | 74 Rtk 1 1-1 (&E=H)

3 |3112400| OU>Y 1 S—6 18 1118207 | 74 FIEHR 1 1—20 (FHA)
4-5 1115103 | B&EE (5%) 1 oyt 19 [1105703 | 74 Fi&tx 1 1—1 (%BAH)

5 (3109600 | FEEERO ) ¥ 1 S—-14 20 (1127610 | #igH/N— (58) 1 3 Lret

6 (1121601 | I\ THEE L& 1 21 (3100800 | O % 1 P—11

7 |3100300 OU>Y 5 P—-7 22:23(1127118 | F=B#ESE (%) 1 oyt

8 [1127602 | IXv ¥ 5 10x7x0.5 23 [3100800 | OU > % 1 P—11

9-10 1127603 | &I/ RIVETE (58) 5 oy It 24 1127119 | SE=MEEE 1

10 [3100900| O >4 5 P—12 25 |1274000 | $£=1EQO 1 5y MCP49
11 1127604 | B)/ RIVA&AE 5 26 (1127611 | ER 4 M3.5x2 2
12131127113 | Bl/ XIVEMSEh (52) (58)| 5 oIt 27 1127612 | +v b 6 M3.5

13 |3100400| O % 5 P—8 28 (1127613 | EX 2 M3.5x25

14 1128004 | 74 FEEMRA/Y F> 4 |($=. WM. &, AAE)85x13.5x3 || 29 |1114507 | FRRGEY 1 (17x17 8) LMk, €A
15 1115111 | FE#R 1 FE 1.0 (BMA)

072023




N IN=Y )X B

EAMVEOASD

1121700

No. |J—F&5 B & 4 R Bk w = No. |J—F&S B & 4 i B & &
1+2 (1100401 | O 1 NE 92,50V | 13 (1100308 | /NIVIRBRTI VY 1

2 [3100400| O >¥ 1 P—8 14 (1100307 | /\IVT (5%) 1

3 (1100403 | "E5E 1 15 (1100109 | L/A— (58) 1 VabZi}

4 11101605 | #Rhik& 1 16 (1100110 | L/N—1E&HE > 1

5 13101200 0% 1 P—18 17 1100111 |[EU >4 1 ¢2.3
5~7(1115201 | FEEEES2E (58) 1 ouVy. NyFoft 18 |1100117 | 95~ FRINvF > 1 23x14.8x2

7 1114908 | AfFiEHA/NNY F> 1 21x13x1.5 19 |3100400| 0 U >% 2 P-8

8 (1100116 | BAZKE (58) 1 Jaq v Mt 20 (3101000 |0 U~ % 1 P-14

9 1115202 | #itk (58) 1 RFAt 21 3100600 | O U >4 1 P-10

T m Iy

12 /1100106 | FASADEH 1 M6 22 | xmeex | N — b 1 x
”4°192 1121701 | B&—zt 1 SEH. Fu MM NENE, BB COIRFEIFIT>THEVE A,

1—20 072015




N i=vyz b

NGN-100A4A>/X)b

1121800 NGN-10 0 A~/ X1V

1121800

No. |1—-FE&= R a4 R 1Bk s & No. |1—FES i & 4 TR 1Bk fa £
1 1115303 | Fvv 7 1 8-9 (1115305 | #itk (58) 1 oy It
2 (1115301 | ®&O 1 R 2.0 9 13100300 | OU V¥ 2 P-—7
3 1115302 | /\wF> 1 19x13x2 10-11|1115306 | FTi Vv 7 1 a&h]
4 1115304 | FF 1 11 1115311 | EX 1 M5x8
5.6 (1115308 | BOKRT 1 — (58) 1 AVE 201 12 1101699 | YaA > +&E 1 G3/8 B xGl1/4 &
6 (1115309 | BART«—RNvF> | 1 20x13x2 13 1115307 | O 1 NE 1.5
7 1115310 | &f&NA T 1
2—-12 072015




NAGATA PARTS LIST

7—KRFERMVEO FS-1

1122000 77—k EA MVIED FS-1

—_— - - - - - - —

o

v
hh

No. |a—RES KR [GE:S w % No. |a—RES EEEEZE [EE:S w %

1 1100103 | 7L T7—F 1 12 1100308 | NIVTRRFY v 1

2 1100101 | W4k 1 N 1.8 13 1100307 | /NL T (58) 1

3 1100104 | BEARA/ Sy £ 1 14 1100109 | L/N— A U4F 1

4 1100102 | ¥ 1 15 1100110 | LN—1EHE Y 1

56 1100107 | 7— REifd&E (%) 1 AVE D2} 16 1100111 [EU Y 1 $2.3

6 1100115 | 7— FEF£ERAv F o 1 21x16x15 17 1100117 | /sy %>y 1 23x148x2

7 1100116 | fAAK 1 Taqd Mt 18 3100400 | O U > 2 P-8

8 1100114 | ik 1 19 3100600 | O U > 1 P-10

9 1100112 | 75 v K (5%) 1 AVEPNOLM/E S 20 3101000 |0 U v ¥ 1 P-14

10 1100812 | M6F v k 1 7-12-13

11| 1100106 | BEAOEH 1 M6 14~ 5] 1100108 | H# (D ! T
8-10-11| 1100105 | Fls—= 1 DEH. T M

032024



NAGATA PARTS LIST

7—KRFEXMVRO FL-1

112210

7—KHEX VRO FL-1

)
S
\\\\\\\\\?

\

(-

21 @%@@
NN
)Y

S 4

No. |o— RZEE R B3 w & No. |a— NEE] ERCEE [EES " &

1 1100103 | ZIL2T—FR 1 10-12-13] 1100201 | #iE—=zL 1 DEH Ty M
2 1100101 | FE#R 1 g 1.8 14 1100308 | NILTRHRRTY VY 1

3 1100104 | MEARA/ Sy F 2 1 24x18x2 15 1100307 | 7NV T (58) 1

4 1100102 | #F 1 16 1100109 | L/x— (58) 1 A

56 1100107 | 7— FEUF£E (58) 1 ASE D25 17 1100110 | bAN—LEHEY 1

6 1100115 | 7— REfMEERyFV 1 21x15x 15 18 1100111 | EV VY 1 ¢ 2.3

7-8 1100202 | A&/ 1 7 (5B) 1 AVEDZ 19 1100117 | ¥ KAy F 1 23x148x2

8 1114908 | AEEHEA/ Y+ 1 21x13x15 20 3100400 | O Y >4 2 pP-8

9 1100116 | fAAGK (58) 1 PRGN 21 3101000 | O > ¥ 1 P-14

10 1100203 | =itk 1 22 3100600 | O U 1 P-10

11| 1100112 | Y5V K () 1 Ry %V OU YT 9 _ ) )

12 1100812 | M6+ ~ 1 14~ 18 1100108 | &k (58) 1 NILT . LN—fF
13 1100106 | FAHAHDOEH 1 M6

032024




N IN—=J1) A}

EAMVIEOAF-5

1122200 EXMUVIEOAF -5

1122200

No. |1—F&S EB & % R Bk s & No. |2—F&S B & % ¥R &%k s &
1 /1100302 | "&A 1 TR+ 0.7X5 #FF | 12 [1100106 | FAEIADEH 1 M6

2 1100220 | /N\vF> 1 29x24x1.5 13 (1100308 | /NIVTHRTU VY 1

3 1100306 | ¥— FIE®HER 1 14 (1100307 | /NIVT (52) 1

4 11100305 | NfEYIRY—F 1 15 1100109 | L/A— (58) 1 VapZi)

5 11100304 | — FRES 1 16 (1100110 | L/\—1E®HE> 1

3~6(1100221 | Hi(58) 1 EL, ¥—bh. ER1fF 17 1100111 | EV >4 1 @23

3~6 1100303 | Hi—zt 1 Bg&. ¥y—h EX 18 1100117 7‘5>|~:ﬁa/\°\y4=> 1 23x14.8x2
11-12 DEH Fv M 19 [3100400 | O U % 2 P-8
2:7-8/1100222 | Fi&/N1 7 (58) 1 Ny F 4T 20 (3101000 OV % 1 P-14

8 1114908 | A&/ Ny +> 1 21x13x1.5 21 (3100600 | O U4 1 P-10

9 _[1iootts | WA Ge) ! ZaAY 9 11100108 | &5 (3) 1 INVTL Lin—t
10 1100112 95>V K (5E) 1 NyEv, 0UVIft |[13~17

11 |1100812| M6+ I 1 22 | mmesx | NPT — b 1 x

KENE BBR T DERFEIZIToTEYE A,

032024




N i=vyzr

EAMVEOP—-6

1122300

1122300 EAMLEAP-6

a8 @?@ 1BALTEE)
i 7 —yy i
Y S\W‘) :

o

No. |1—F&S B & 4 R Bk & = No. |2—F&S B & 4 (e & =
1 1114903 | BEREAFv+v 7 1 121100308 | /NIVTRRTU VG 1

e TR 0.8X5 4R 13 1100307 | /N\IVT (5%8) 1
2 1maso| Rk 1 ©0.9x1 #Fit 14 1100109 | L/\— (58) 1 abZi]
31114902 | BERA/NYF> 1 35x29.5x2 15 1100110| L/\—1E&HEY 1
4-5 11114906 | Hits (58) 1 oIt 16 |1100111| EV >S5 1 @23
5 13100400| OU>% 1 P-8 17 |3100400| O % 2 P-8
6-7 (1114907 | &4&/INA T (58) 1 Iy F 4 18 (3101000 | O U % 1 P-14
7 1114908 | AF#EEGEA/NY F> 1 21x13x1.5 19 3100600 | O % 1 P-10
8 |1100116 | FAKE (58) 1 JaAv M 20 1100117 | 5 RANv x> 1 23x14.8x2
1% H?Z;}; ;Z;t :f“) : WEZ OUZIR | 8 liovios| &tk ) . NIVT. Lii—ft
11 1114909 | FAEADOEH 1 M8 I s R VA 2l S 1]

XENIE, BB CORRFEIX T CEYE A,

032024




N IN=Y) Xk

EAMVI—APAS

1122400

1122400 EXMVI—ZXPAS

No. |[1—F%=S R o % FR Jl5E3 s &
No. |I—F&S B8 & % FR {[EE3 ® & 13 (1100812 M6F v b 1
1 (1122404 | g7 —F 1 pi:] 1424 (1122409 | AEEDEH# 1 M6
2 (1100101 | M&#R 1 R 1.8 15 (1100308 | /NIVTRRTY VY 1
3 1122405 | FEMRA/NY F> 1 24x18x3 16 (1100307 | /\ILT (58) 1
4 11112501 | #F 1 17 11100109 | L/A\— (58) 1 hoAd
5+6 (1122406 | 7— FE{I&E (58) 1 Ny F AT 18 |1100110 | L/\—1k®HEY 1
6 1114908 | AMFEGEA/NY F> 1 21x13x1.5 19 |1100111 | EU>Y 1 ®2.3
7 1122408 | AR (52) 1 JaAvh Tyvaft 20 |3100400| O U~ % 1 P—8
8+9 (1122401 | HiE (5E) 1 oYt 21 3101000 O U~ % 1 P—-14
9 [3100210| O U>% 1 P—6 22 |3100600| O U~ % 1 P—10
10 |1122504| ER 1 M3x12 o .
T i 555 F & . Ut 152 19|1122402 | &fK (5%) 1 VT, Lis—ft
8~14/1122407| His—3{ 1 D% v MT 23 | wewee | NI — | 1] x
12 |3100900| O U4 1 P—12 24 | wewwrex | EEG 1] x
25 | wewwex | Sy 1] x

XENIE, BRER CORRFEIX T CEYE A,

102020




N IN=Y ) A B

EAMVI—APAL

1122500

1122500 ERAMVI—APAL

No. |a—F&2 2B & % R S fim %
No. |1—K&S2 R dn % R 1Bk & & 13 [1100812| M6F v 1

1 1122404 #@EE7— K 1 pin:] 14-2411122409| AEADOEH 1 M6

2 [1100101| "&#R 1 NiE-p1.8 15 1100308 /NIVTRRTUV S 1

3 [1122405| "EtRA/NY ¥ 1 24x18x3 16 |1100307| /\IVT (58) 1

4 1112501 &F 1 17 [1100109| L/\— (5%) 1 H At

5.6 1122505 &&/N1 7 (58) 1 Ny F AT 18 |1100110| L\—1E&HEY 1

6 |1114908| AEEHER/NY F> 1 21x13x1.5 19 |1100111| EU> 4 1 ¢2.3

7 |1122408| A& (58) 1 Jaqvbh, FTvvafd 20 [3100400| O U>¥ 1 P—8

8.9 [1122502| Hith(5%) 1 oIt 21 [3101000| O >4 1 P-14

9 (3100210 O ¥ 1 P-6 22 |3100600| O % 1 P-10

10 [1122504| EX 1 M3x12 - o K
11-12|1122403] 952 F (%) 1 L OPZAc] 15119 122402 6 () 1 IV7 L=
8~ 14 [1122503| Huig—z 1 DEH. TV T 23 |Eeess | N LT — b 1] x

12 3100900| O U > % 1 P—12 24 |wemeerx | ERGy 1) %

KENIE, BB CDEREIFIToTEYE A,

102020




N IN=Y ) A B

JJVFI—ACS

1122600 J)LFT—ACS

1122600

N\
5

<SS

S

—
17711

ST

SR

AN\

71

‘\\\\
7

-
o

No. |J—F&S B8 & % ¥R {[EES " & No. |1—F%&S B8 & % #R e s &
1 1122404 | R 7 — F 1 pin=) 6 |3100210| OV ¥ 1 P—6

2 |1100101 | "&#R 1 TR0 1.8 7 1122602 | BAAE (58) 1 POPA
3 (1122405 | EHRA/NY 1 24x18x3 8 |1122504 | EX 1 M3x12

4 1112501 | FF 1 9 [1100812| M6F v + 1

5+6 1122601 | Hitx (58) 1 oYVt 10 (1122409 | FAEA DX H 1 M6

102020




N IN=Y ) A B

JJVbI—ACL

1122700

1122700 JJVFI—ACL

No. |1—-F&S B & 4 R {[EEsY " = No. |J—F&%S &4 {EE " =
1 1122404 | g7 — F 1 pine) 6 3100210 OV >4 1 P—6

2 (1100101 | "EHR 1 TR+ 1.8 7 1122702 | BA&tE (58) 1 9) w71t
3 1122405 | BEHRA/NY £ 1 24x18x3 8 (1122504 | EX 1 M3x12

4 1112501 | BF 1 9 |1100812 | M6F v b 1

5+6 1122701 | & (58) 1 oVt 10 (1122409 | FAMADOFH 1 M6

102020




N IN=Y ) A B

IT—AMEC18

1122800 T—AmEM 12

5

1122800

1!

iy

7SN
'\
SN =

‘\\\“‘
Y
i

N

[

NN\

[T11

/=

No. |J1—F&S B8 & % ¥R {[EE3 " = No. |O—F&S B & B fr &
1 1122404 | iR 7— F 1 pin=) 6 (3100210 QU4 1 P—-6

2 |1100101 | M&#R 1 NEc01.8 7 11122802 | fAAtE 1

3 (1122405 | EIRA/NY £ 1 24x18x3 8 11122504 | ER 1 M3x12

4 1112501 | FF 1 9 1100812 | M6F v b 1

5+6 (1122801 | Hitx (58) 1 oyt 10 (1122409 | FAFHAEDOEH 1 M6

102020




N i-vyzp

EAMVEOALD

1122900

1122900 EAXAMUVEOALD

No. |J1—FE&S EB a4 R {[EEY &5 & No. |J—FE&S EB a4 R Bk " =
1+2 (1100401 | B 1 B 02,500V | 13 (1100308 | /NIVTRRTUVY 1

2 (3100400 | O U % 1 P—8 14 (1100307 | /\IVT (58) 1

3 |1100403 | M&EE 1 15 1100109 | L/\— (58) 1 VabZi)

4 1101605 | RNLLS 1 16 [1100110| L/\—1E&HEY 1

5 (3101200 O U>% 1 P—18 17 1100111 | EVU>Y 1 ®2.3
5~ 7(1100404 | /X1 7 (58) 1 oUVH, NyFft 18 1100117 | 5>~ FANy > 1 23x14.8x2

7 1114908 | A{F$EGA/NNY £ 1 21x13x1.5 19 [3100400| O U ¥ 2 P-8

8 1100116 | BAA{F (58) 1 JaqA v M 20 (3101000 O U4 1 P-14

9 1100405 | it (58) 1 RFT 21 (3100600 O U >% 1 P-10

10 [1100112| 95~ F (50 1 Ny F2,0U> I 8 100108 | A4k () 1 NIVF Ln—ft
11 |1100812 | M6+ b 1 13~17 N

12 1100106 | FAERADEH 1 M6 22 || NF )L — b 1|
1;1: 192”00402 ezt 1 SEH. Fu M KENIE ERER COBRFEIIToTHEYER A

072015




N IN=Y ) A B

ZA47IVEOP N-1

1123000

Z47)VEEOP N-1 1123000

No. |1—FrE&ES B8 & % #R {[EE3 " % No. [1-FrE&= BB & % 5 2R & £
1 1100502 | F¥vv 7 1 9 |1100517 | FE& 1

2 |1100501 | &0 1 NE@ 1.7 10 (1100518 | /NI T INw > 2 9.5x4x3

3 |1100503 | O/ > 1 19x12x1.5 11 |1100508 | FEETF v b 1

4511100512 | TV AT 3> (5%) 1 Ny F 47 12 |1100505 | L/\— (58) 1 VAo

5 11100513 | TVRTYYavBANvEY | 1 22x15.5x2 13 1100509 | Av o7 F v b 1

6 [1100514 | BA4AsE (52) 1 AN—. ERfF 14 (1117224 | lEHE> 1

7 1100515 | =— K& 1 15 1117225 | EUY S 1 ®3.2

8 1100516 | RFUVF 1

042022




N i=vyz b

74 7IVIEORARE

1123100

@)

No. |J1—FE&S EB a4 R E%K & No. |J—FE&S B o % R 1% 5 &
1 1100502 | Fvv 7 1 11 |1100716 | KU —+ 1 10x5x1
2 1100501 | B&O 1 R 1.7 12 1100712 | BAZ4A 1

3 |1100503 | O/ F> 1 19x12x1.5 13 1100705 | lE&1a L (/) 2

4:5 11100512 | TV RTVvay (5%) 1 Ny F 48 14 (1100709 | B k 1

5 1100513 | TZAFyYavARy+Y | 1 22x15.5x2 15 1100704 | k&1L (X) 1

6 (1123101 | =— K/l 1 16 1100707 | L/\— 1

6~ 111100703 | HiH—= 1 0Uv5m8, 0Uv4, vV | | 17 1100711 | lEE> (Ov FA) 1

7 1123904 | RV 1 18 1100111 | EU Y 1 ¢2.3
8~10(1100713 | O vV RBESE (58) 1 oYVt 19 |1100710 | Lk&HE> (LIN—F) 1

9 13100300 OU>% 1 P-7 20 |1100714 | M3STv ¥ v — 2

10 |3100200| O % 1 P—5 21 [1100715| M3+ v k 1

072015




NAGATA PARTS LIST

avbC-1

1123200

JLRFC-1 1123200

No. |3— REE| & A [EE w = No. |3— REE| & 4 W [k " &
1100103 | 72 T—FR 1 6-10 [1100807 | fAAR (58) 1 [ BY. OUVIH
1100101 | M&#R 1| RE-$1.8 1100812 | M6+ k 1
1100104 | BEHRA/Y F> 1| 24x18x2 1100106 | FAEIADOEH 1| M6
1100803 | RF 1 1126104 | FxTRY 1| TLtR ERA
1100814 | & (52) 1| Y= 3100400 | OU >4 1| P—8

811100808 | iEk—=t 1 | 2&EH. Ty b

092023




NAGATA PARTS LIST

abC-2

1123300

JJbbC-2 1123300

No. |a2—R&S BB H B " & No. |3—KR&ES] &% W E% " &
1 1100901 | #Bilg7— K 1 KR 6 |3100400 | OU Y 2 P—8
2 1100902 | MR 1 NE- 9 1.5 7 1100907 | 75K 1
3 1100903 | MEARA/ Sy > 1 8 1114910 | M8F v b 1
4 1100906 | B (58) 1 BY & 9 1100904 | A FOOBDOFEH 1
5-6 [1100905 | #is (58) 1 (O R7E ) 10 |1100809 | #&Y 1 (/2 F) T4, EXfF

13.12




N IN=Y ) A B

J)VRC-3

1123400

JJVkC-3 1123400

No. |J—FE&S EB a4 R E%K & No. |J—FE&S EB a4 R Bk B &
1 1122404| g7 — F 1 pin=) 9+10[1130317| =— FILIS U F (%) 1 oyt
2 [1108003| =— Kbk —r2E—= | 1 R, ¥ — b 10 |3100800| O >4 1 P—11
31123401 EBOA/NvF> 1 24x20x2 11 1117218 | M5F+ v 2

4 11108001 =— F)L##h 1 12 [1123404| L/\— 1

5 11123402| fehik& 1 13 (1117213 LAA=EFRIV b 1

6 1108002 —=— FIVRTY VY 1 14 (1130321 M5U%+ v k 1

7 [1123403| &1k (58) 1 'Y 15 [1130323| 7—LU>T 1

8 (3100200 O % 2 P—5

092023




N IN=Y1) Ak

INMINTD—/XJVHP-350

1123500

INMINTD—/XIVHP-350 1123500

No. |J—FE&S EB & %4 ¥R {[EE=Y 5 = No. |1—F&=2 BB % B " %
1 (1122404 | g7 —F 1 P! 14 1107709 | =— F)L#h 1

2 |1100101 | F&#R 1 TEe1.8 15 1107711 | =— FIVRT UV S 1

3 1122405 | BEHRA/NNY £ 1 24x18x3 16 (1130325 | FAAE (58) 1 =D

4 1112501 | BF 1 17 (3100200 | OV >4 2 P—5

5 [3100210| O % 1 P—6 18+19(1117216 | Z— FILY SV F (%) 1 oyt
6-11-26/1123501 | &f&/\1 7 (58) 1 (O 2/ N2 X 19 |3100800| O ¥ 1 P—11
7 1130312 | AHAOEH 1 20 (1130318 | L/IN\—U 45 1

8 (1130313 M5ST v v— 1 21 1123404 | LN— 1

9 |1300416 | /Xy ¥ 1 10x5x0.5 22 1130322 | LIN\—hH> 1

10 1130315 | R bw/i—m 1 23 1117213 | LAA—BU3RIV b 1

11 [3100400| OU> 5 1 P—8 24 1130321 | M5UF v b 1

12 1117218 M5F v b+ 2 25 |1130323 | =LYUY 1

13 1130316 | v ZEYF+ v b 1 26 (1107707 | /NIV TV — 1 P

KENZ BB CORREIFITOTHYE LA,

092023




N i=vyzr

IND—/XIVP-250

1

123600

No. |I—F&S BB & % 75 {BE2 im & No. |1—-F&S B @B (EES fiE %
1 [1122404 | #RE7— F 1 ZE) 1123601 | A& (52) 1 =PAR)

2 |1100101 | F&#R 1 TNE-p1.8 7 1130312 | FAEADEH 1

3 (1100104 | FERRAE/ N\ ¥ 1 24x18x3 8 1130313 | M5STvov— 1

4 1112501 | FF 1 9 [1130314 | /NvF> 1 10x5x0.5

5 [3100210| QYUY 1 P—6 10 1130315 | A bw/N\—T 1

072015




N IN=Y) A}

PCO/XIL203S

1123700

PCO/XIL203S 1123700

No. |J—FE&S EB & %4 R B & & No. [1—F&5 B &k % TR %K 5 &
1 1100502 | Fvv 7 1 8 (1123906 | Y5 K 1

2 1100501 | B&O 1 R 1.7 9 (1130008 | v b (X) 1

3 1314403 | Ny F Y (T vE) 1 19x12x1.5 10 |1314501 | L/\— (58) 1 apZii

4 11123701 | =— F)L#h 1 11 (1314502 | L/A—BUFRIV b 1

5 11123904 | A7V VG 1 12 |1130321 | M5U+v b 1

6 (1123702 | BEAE (52) 1 AN—. ERfF 13 |1130009 | 7 I (V) 1

7 (1314405 | OUVF (7 v&) 2 P—5 14 |1314006 | DEH 1

pl.11237.201911




N /5—wizr

PCO/XIL203L

1123800

PCO/RIb203L 1123800

No. |1—FES B a4 T e i = No. |1—FES &8 & % FR 1Bk & &
1 1100502 | Fvv 7 1 8 1123906 | Y5 K 1

2 1100501 | B&O 1 R 1.7 9 1130008 | v bk (K) 1

3 1314403 | INwEF 2 (TvE) 1 19x12x1.5 10 (1314501 | L/\— (58) 1 b4l

4 (1314404 | —— F)L#h 1 11 (1314502 | L/N—EUTdRIV b 1

5 11123904 | ATV VG 1 12 1130321 | M5U+v b 1

6 (1123801 | BAA{E (58) 1 AN—. ERfF 13 1130009 | 7 k (1)v) 1

7 1314405 | O VT (7 vE) 2 P-5 14 (1314006 | DFH 1

pl.11238.201911




N IN=Y1) A}

71)—3—2205S

1123900

71)—3—>205S 1123900

No. |J—FE&S EB & %4 R B & & No. |J1—FE&S EB & %4 R Bk e &
1 1122404 | g7 — F 1 piN=) 9 1123906 | Y5V F 1

2 1314504 | "EiR 1 R 1.7 10 1130008 | v b (X) 1

311123901 | NIV T — b 1 11 1314501 | LI\— (58) 1 Vb4

4 1123902 | BF 1 12 (1314502 | L/A—EUFRIV b 1

5 11123903 | =— FJL#h 1 13 1130321 M5U# v b 1

6 (1123904 | RTUVY 1 14 (1130009 | v k (1v) 1

7 (1123905 | BAAE (58) 1 AN—. ERfF 15 1314006 | DFH 1

8 [1314405| OUVF (7 vE) 2 P—5

pl.11239.201911




N IN="J1) A

71)—3—2205L

ool

1124000

0

N (pd
\ ’/

71)—3—>205L 1124000

No. |J—FE&S EB a4 R E%K & No. |31—FE&S EB & %4 R Bk &5 %
1 1122404 | ftfE7—F 1 DN 9 1123906 | /5 K 1

2 1314504 | &R 1 TR 1.7 10 |1130008 | 7 b (X) 1

311123901 | NIV T —tb 1 11 1314501 | LIA— (58) 1 H oA

4 11123902 | ¥ 1 12 1314502 | L/A—HU3RIV b 1

5 1124001 | =— F/L# 1 13 (1130321 | M5UF v k 1

6 (1123904 | RTUVY 1 14 1130009 | 7 k (/) 1

7 (1124002 | A4 (58) 1 HN—, ERf¢ 15 [1314006 | DFH 1

8 [1314405| QU (7 vH) 2 P-5

pl.11240.201911




N =Y A}

Hekfa /X)L 8

(@)
O\

N &
ol

1124100

) i

1124100  #Hgkfa/ X1 R

No. |3—RES SR A% - No. |I—R&EE EETER B 5 &
1 1101001| Fvv7 1 7 3100300| o> % 2 P—7

2 1101002| E#x 1 NEE 920 8 1101006 RYLE® 1

3 1100104| E#RA/ ¥ 1 24x18x2 6:7-9-10 | 1101004 | Fii—=X 1 EBYLF

4-8 (1124101 KK/ S4 T (58) 1 RYisH 1t 9 [1114910| M8Fwhk 1

5 |1100809| #EY 1 (1/2FK) I LR, ERfF 10 |1101005| FtiEY 1 (M87)

6-7 |1124102| #its (58) 1 oyt 11 |1101301| HEHR 1 N P18

072024




N i=vyzr

Za—AV/XIv<—=7 1l

I EER S
— 12

1124200

1124200 Za—AHV/ A= 1
No. |J1—FE&S EB a4 R {[EEY & No. |1—F&% B o % R {EE 5 &
1 1101001 | F+v+v 7 1 7 1114611 | RUNvF> 1 11x8.2x1
2 [1104001| "™&Q 1 TNE 2.0 8 3100400 OU>¥ 1 P—8
3 1104003 | BEWRA/NY F> 1 24x9x2 9 1114612 Y5 F 1
1124201 | s 1 10 (1114910 | M8F v b+ 1
4:7~11(1104005 | Hi—= 1 t=DEb] 11 (1101005 | FTtiEY 1 (M 87%)
5 11124202 | &&NA T 1 121101301 | M&#R 1 TNE @18
6 (1100809 | BV 1 (12 #%) dLiR. EAf

082023




N IN=Y 1) A b

gt 7 3V V]

1124300 ==#Fa/ XV

1124300

No. |J—FE&S EB & % ¥R {[EE=Y 5 = No. |J—F&% BB % jlEE s &
1 11101204 | F+v 7 1 7-8 (1124302 | Fi&s (58) 1 oIt
2 (1101201 | "EHR 1 TNE 1.8 7~11/1101206 | Fis—=0 1 =D

3 1101203 | /Xv > 1 18.5x10x1.5 8 3100400 | OV % 2 P—8

4 11101205 | BF 1 9 1124303 | ¥5 >k 1

5 11124301 | &f&/X1 T 1 10 (1114910 | M8F v b 1

6 [1100809 | Y 1 (12#%) dLiR. ERf 11 (1101005 | FigY 1 (M8#)

2—3

072015




N IN="J1) A

111

1124400

1124400 =i=EEBfEkna
No. |J—FE&S EB a4 R B & No. |3—FE&S EB & %4 R Bk g &
1-2 1113301 | B 1 NE 92,5051 || 7-8-9(1102211 | TS5V K (58) 1 Ny . 0U VIt
2 [3100400| O % 1 P—8 9 |3100800| O % 2 P—11
3 1100403 | ME5E 1 10 (1124403 | 7/16 +v + 1
4 11101605 | #Rh1E& 1 11 1113304 | Y 1 (716 #%)
5 11101699 | Y31~ +&E 1 G3/8 B xG1/4 & 12 |3101200| O >4 1 P—18
6 (1113302 | #is (58) 1 AT 12~15 (1124404 | Z4&/1\1 7 (58) 1 oVUVy,. I—Met
7 1124401 | 75V FRINvF> 1 21x16.3x2 14 (1128707 | &Y 1 (5/8 %) LR, ERf
15 peexxsexx | g\ T — b 1 ¥
ENE, R TORTIEIT>THEVE A,
2—4 072015




N =vyzr

=Rk EkE/ X)b

1124500

1124500 B=EERERE/ X)V

No. |J—F&5 B & 4 R Bk " = No. |J—F&S B & % B2 5 &
1-2 1101601 | B&O 1 ANE - 03.50U V5 10 [3100500| OV >4 2 P—9

2 [3100400| O ¥ 1 P—8 11 1126706 | BE 1 @12

3 1100403 | "EEE 1 12 |1101604 | FETiEY 1 FRER, Fv M
4 11101605 | #EMLLES 1 13 1101609 | 75 K 1

5-6 (1101607 | &&/\1 7 (58) 1 oY Vid 14 1101610 | EX 1 M4x5

6 (3101200| OU ¥ 1 P—18 15 1126704 | BE 1 @16

7 1101507 | FREEY 1 FRER. Fv ME .9. - ’RES. RFE.
8 1101699 | YaA > F&E 1 G3/8 B xG1/4 & 1412*}2 1101602 FiS—3t ! ZERdONE - Uhb
9-10 (1101608 | Hitx (58) 1 hF 0U VI

000

022017




N IN=Y ) A B

AT VL Rtz kb

1124600

_—
1124600 ATV AR kR

No. |1—F&S B8 & % #R {[EE3 " & No. [1—Fr&2 B & 1B fm &

1-2 /1101601 | &0 1 7E93.50) V9| 9 [1101609 | ISV F 1

2 [3100400| OU>% 1 P—8 10 (1126706 | BER 1 12

3 (1100403 | "EEE 1 11 (1124403 | 7/16 +v b 1

4 11101605 | #RhiE& 1 12 |1114508 | FTiEY 1 7/16 2

5 (1101699 | Va1~ +t&E 1 G3/8 B xG1/4 & 13-14(1114502 | &fF/N1 7 (58) 1 oYyt

6-7 (1114501 | Hi&s (58) 1 hF OVt 14 13101200 OV % 1 P—18

7 [3100500| OU>% 2 P—9 15 (1126704 | BER 1 ®16

8 1101610 | EX 1 M4x5 16 |1114507 | Y 1 (17x17 ) d Ltk €21

13.12




N IN=Y )X}

7—M{tEkEa/ XIVF T-1

1124700

1124700 7—R{I#&Ra/XIVF T-1

No. |1—FEE B & T 1Bk s & No. |1—Fr&S B & % R [ s

1 1103104 | 7IVZT7—F 1 7 3100400 | O % 2 P-8

2 (1101002 | "EHR 1 TE 2.0 6:7-10-111101505 | Fis—3X 1 =D

31124701 | ¥—bkXw 1 23.5x5x1 8 (1124703 | &f&/NA T 1

4 11100104 | iR/ F> 1 24x18x2 9 1113305 | &Y 1 (5/8 %) dLMR. ERfT

5 (1101504 | hF 1 10 [1124403 | 7/16 v b 1

67 (1124702 | His (58) 1 oYUt 11 |1113304 | FTiEY 1 (7/16 %)
2—-7 072024




N IN=Y1) A

AVI—ZAL-840 1124800

1124800 #>I—ZL-840

No. [1—}ES BB aa % 75 B3 m % No. |I—-F&S BB a1 % 7R B w %

1 [1122404 | #ils7— K 1 pi=] 7 3100210 OU>Y 1 P-6

2 |1100101 | FEtR 1 R 1.8 8  [1124802 | /N1 T 1

3 |1122405 | BEtRA/ Sy F2 1 24x18x3 9 1100809 | Y 1 (127) LMk, ERfF
4 1112501 | BF 1 10 1122504 | ER 1 M3x12

5 3100200 OU>7 1 P-5 111114910 | M8F v k 1

6-7 1124801 | itk (52) 1 0V 12 |1101005 | FrigY 1 (M87)

2—8 102020




N i-vyz b

HYI—XS-440

1124900

1124900 AHYI—AS-440

No. [1—-F%ES B & & ¥R J[EE= s & No. [1—F&E B & 2 ¥R f[EE= s &
1 1122404 | #fg 7 — K 1 e 7 3100210 | OV >4 1 P—-6

2 (1100101 | M&#R 1 TR 1.8 8 (1124902 | &tk/N1 7 1

3 1122405 | BERE/ Sy £ 1 24x18x3 9 (1122504 | £ R 1 M3x12

4 1112501 | pF 1 10 [1114910 | M8F v b 1

5 13100200 | O % 1 P—5 11 1101005 | FTiEY 1 (M87)

6-7 (1124901 | 5 (=) 1 oY vt

2-9 102020




N =vyzr

ATVVAI—ASL-840

1125000

1125000 ATV/LAI—ASL-840
No. |J—F&S B & 4 R 1Bk & = No. |J—F&%S B & 4 Bk " =
1 (1122404 | g7 —F 1 pine) 7 [3100210| OU>Y 1 P—6
2 (1100101 | m&#R 1 TR 1.8 8 (1125002 | A&/ N1 7 1
3 1122405 | iR/ 1 24x18x3 9 [1125003 | FRGIEY 1 (16x16 2) JL#R, LR At
4 1112501 | hF 1 10 (1122504 | EX 1 M3x12
5 13100200 | O % 1 P—5 11 (1114910 | M8F v b 1
6-7 (1124801 | s (=) 1 S UPZihi 12 [1238622| FiEY 1 (MBE)

042023




N i=vyz b

ATVUVAI—ASL-440

1125100

//

\

9)

@

@

~

1125100 ATVUVAI—ASL-440
No. [1—FE&= B o % R {[BES¢ & & No. |1—FE&= B a % R 1BEK e &
1 |1122404 | BT — F 1 pin=) 7 |3100210| OU ¥ 1 P—6
2 (1100101 | F&E#R 1 INEe01.8 8 1125102 | &f&NAT 1
3 1122405 | "BiRF/ Ny F> 1 24x18x3 9 1122504 | ER 1 M3x12
4 1112501 | FF 1 10 |1114910| M8F v b+ 1
5 13100200 O >4 1 P-—5 11 1238622 | FtiEY 1 (MSE)
67 (1125101 | s (58) 1 oYVt

042023




N IN="J1) A b

‘@
[

ATVVAZA48 SR-700

n

7

\\\\

)
i
‘

/

-0

1125200 AT7YLAZ4FSR-700

1125200

No. |1—F&E B8 & % R [ s =
No. [1—FrE&ES B dh % R 1Bk 5 = 7 1110901 | 1> — b+ (58) 1 <25}
1 |1105301 | il 7 — F 1 26 8 [3100700| O ¥ 1 P-10A
2 1100101 | M&#R 1 Ee1.8 9 [3112800| OU>VY 1 S—10
3 (1108202 | /Ny F> 1 26x18x2 8~ 13]1125202 | &f&/N1 T—= 1 RS, PR FrEYH
4-5 1110903 | FF (58) 1 oyt 12 (1125003 | FRSIEY 1 (16x16 B) T Ltk ERfF
5 [3100200| O % 1 P-5 13 [1125204 | FTiEY 1 (16x18 ) JLiR, ERfH
6 [1110902| / Z)bAy F 1 HENE, BBRCOIRFEIToCHYE e

112023




N IN="Y1) Ak

ATVVAZA4F SR-900

a1
S

V=

~

1125300 A7VLAZA4F SR-900

1125300

No. |1-F&%2 5B 5 % FR B fim %
No. |1—FrE&S B8 & % #R 1Bk &g & 7 1110901 | &Y —+ (58) 1 0]
1 |1105301 | @7 — F 1 2a 8 [3100700| OV % 1 P—-10A
2 (1100101 | M&#R 1 Ee 1.8 9 [3112800| O ¥ 1 S—10
31108202 | /NvF 1 26x18x2 8~ 131125302 | &F/\1 T—= 1 s, . FEYS
4-5 (1110903 | FF (58) 1 oyt 12 1125003 | RSIEY 1 (16x16 2 ) JLkk, EAfY
5 |3100200| O % 1 P-5 13 1125204 | FTiEY 1 (16x18 2) JLdk, EAf
6 [1110902 ] / ZjbAv B 1 KENIE, BB TR T CHEYE R Ao

112023




N i-vyzt

2049 IMC-1

1125500

1125500 24y IMC-1
No. |J-F&% BB & % JEES 5 £ No. |2—F&% BB & % 7R 1B s £
1 ]1108105 | #ilg7—F 1 e 5-6 |1108103 | FF (58) 1 o— M
2 |1100902 | E#R 1 NEep1.5 6 (1108104 | FF— 1
3 1125501 | FEARAR/ Ny F 1 16.5x11x1.5 7 1125502 | Z“&BF L& 1 oIt
4 1108106 | 72 T2 — 1

112024




N IN="Y1) Ak

T4y LC-2

1125600

1125600 T)V7Av7LC-2

No. [1—F&5 EB &k %4 TR flEEY g & No. |J1—FE&S EB & %4 ¥R Bk & %=
1 |1105301 | #ils7— K 1 2@ 8 1114404 | Ny O Ty TUVY 1
2 (1100101 | M&#R 1 NEe 1.8 9 1117607 | OU 45 1 1516—12
3 (1108202 | BEARA/ N+ 1 26x18x2 10-11(1114405 | R—IV (58) 1 EE&AT
4-5 1114402 | 74 72— (58) 1 Ny F 44 11 1114406 | SRARES 1
5 1114403 | 74 T2 —RINv > 1 27x18x2 12 1114407 | BYESESRAE 1
67 (1114401 | BF (58) 1 o — M 13 (1105306 | @& E 1
7 |1105305 | FF— b 1
2—-18 072015



N i=vyzr

JA499A—=IZ-900S

1125700

1125700 74 v9AXA—LZ-900S

No. [1—-FE&S B a4 R e s & No. |1—FE&ES B & 4 TR {[EE3 & &

1 [1105301 | g7 — F 1 2@ 11 1114406 | SRARES 1

2 |1100101 | P&E#R 1 R0 1.8 12 1114407 | BYESESRAE 1

3 [1108202 | FEHRA/ Ny 1 26x18x2 13 |1125702 | &f&/N1 T 1

4-5 1114402 | 74 7% — (58) 1 INY F AT 14 (1125705 | &Y 1 (1(%) 84 LYY A0, CAf
5 1114403 | 7Z 72 —RBINv x> 1 27x18x2 15 1105307 | /\IL T 1

6-7 (1114401 | ¥ (58) 1 o — M 16 (1125701 | FE& 1

7 |1105305 | FF— b 1 17 |3100500| O >4 2 P—9

8 1114404 | Ny O T v TV 1 18 1105308 | 5 I 1

9 (1117607 | O % 1 1516—12 19 (1114910 M8F v b+ 1

10-11(1114405 | R—IL (58) 1 EERfT 20 |1125704 | FTiEY 1 (M8HMEAL YY)

102020




N 5-vyzr

JAvIX—LZ-900X

1125800

1125800 A4 vIX—=LZ-900X
No. |1—-FE&= R o % R JlE3 s = No. |1—FES i & 4 TR (B3 e &
1 1105301 | #fE 7 — F 1 2@ 10-11 |1114405 | R—IL (58) 1 ELfT
2 (1100101 | M&tR 1 TEc 1.8 11 |1114406 | SHEES 1
3 (1108202 | HEHRA/ Ny F > 1 26x18x2 12 1114407 | BTEEEERA A 1
4.5 (1114402 | 7472 — (58) 1 Ny F 44 13-18 |1125801 | &f&x/N1 7 (58) 1 NIVTo— MMt
5 |1114403 | 7272 —RINvF> 1 27x18x2 14 |1100809 | &Y 1 (1729%) JLIR. EAf
6-7 1114401 | BF (58) 1 ¥— M 15-16 |1126103 | & (58) 1 oyt
7 |1105305 | FF¥— b 1 16 (3100900 | O >4 1 P—12
8 1114404 | N o T v TUVY 1 17 (1126104 | FiEY 1 LR, ERfF
9 |1117607 | OV >4 1 1516—12 18 [rexxxxx | NV T — | 1] %
KENE, B COIRTEIIT>THEVE A,
2—21

072015




N IN=Y ) A B

AZ148714575C-1700

1125900

@@®

o

o
|

A

1125900 254 F91v95C-1700
No. [1—F&S5 EB & %4 #R JlEEsY s & No. |1—F&%S B8 & 4 B s &
1 1105301 | #hE7— F 1 2@ 14 (1127903 | A by INs—BI Uy 7 1
2 (1100101 | M&#R 1 NE 1.8 15 |1101610 | ER 1 M4x5
3 |1108202 | FEMRFAR/ N 1 26x18x2 16+17-1811127904 | R b v N—i#£E (58) 1 ouviit
4-5 (1114402 | 724742 — (58) 1 INy F 44 17 (3100900 | OV >4 1 P—12
5 (1114403 | 72 T2 —RINv F> 1 27x18x2 18 [1105605 | O >4 2 S—11. 2
6-7 (1114401 | FF (58) 1 ¥— MT 19 |1128005 | 3 v 7FHEU >S5 1
7 1105305 | HF— b 1 20 |1127905 | 4/ 7ROy 7 F v M 1
8 (1114404 | Nv O Ty TUVY 1 21 |1127906 | f#8#E/\1 T7HATLZEE 1
9 1117607 | OV Y 1 1516—12 22:27 1125902 | &f&F/INA 7 (58) 1 INIVTY— MMt
10-11 (1114405 | R—